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2NaN3 (s) > 2Na (s) +3N2 (g)
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80°C » 823 mmHg F A7 & AN, 9 B H - (10%)
PV=nRT R=0.082 T=80+273
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£ K ¥4 # 1.6 mg/L Fluoride (F) - ZAHE 450 AR »
K10 2R E AR  (a) # KA 1.6 mg/L Fluoride (F) >
£/ 0.1 MNaF % b 29 ? (5%)(b) &4 % % 64 NaF ? (5%)
B F& : Na=23; F=19

B AR B =3.14%(25)’x10=1.59x10°m’=1.59x10’L

33 A ¥ X4 LT (20%)

(a) NH; (b) CHy (¢) Na;HPO4 (d) H3S (e) H2SO4 (f) NO (g) AI(OH); (h) NH4NO3

(i) CaCOs (j) H20,(k) H;O()F; (m)CO,(n)C,Hg(0)C2Hy(p) CoH,

(qQ)NF3(r)COs* (s)CH,O(t)NO3”

4.—HRAc BB PR o) HHRE 2 10°M > B3p—F > 5 —F %k —EA%
H+R B % 10°M > (a)3k3t B AN LT pH {a 65 £ £(5%) (b)3h AR FE 4B #H —
18 B 1 48 pH 14 841664 B B (5%)

5. 3 TF 7o s A 2 5 458 ik ¢ (a)HBr (b) NO; (¢) HCO37(10%)
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